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Sr Questions Answers Choice

1 Upper layer of Earth's crust, in which vegetation grows:
A. Is called soil
B. Is called crust
C. Is called upper layer
D. Is called upper crust

2 How much area of N.W.F.P is under forests:
A. 2.0 million hectares
B. 1.4 million hectares
C. 5.0 million hectares
D. Very small area

3 How much area of Punjab province is under forests?
A. 3.3 million hectares
B. 5.0 million hectares
C. 10.0 million hectares
D. Very small area

4 In Pakistan, to fulfil the demand of timber:
A. It is not imported
B. It is imported
C. It can be imported
D. Its import is not necessary

5 In Pakistan, every year during monsoon and spring:

A. Tree plantation is done
B. Tree plantation is not done
C. <div>Plantation weeks are
celebrated</div>
D. Plantation weeks are not
celebrated

6 Annual production of timber in Pakistan is:
A. Much less than demand
B. More than demand
C. According to our demand
D. Not according to our demand

7 How many percent forest are under private sector?
A. 25 percent
B. 50 percent
C. 15 percent
D. 33 percent

8 Out of total forest area of Pakistan, two-third area is:
A. Under private sector
B. Under public (Govt.) sector
C. Not property of any
D. Under industrial sector

9 How much grasslands area is under forest department:
A. 6.28 million hectares
B. 5.0 million hectares
C. 10.0 million hectares
D. 2.0 million hectares

10 Pakistan's productive forests area is:
A. 2 million hectares
B. 5 million hectares
C. 1.4 million hectares
D. 10 million hectares

11 At the time of independence, Pakistan's

A. 1.4 million hectares area was
under forests
B. 2.0million hectares area was
under forests
C. 5million hectares area was under
forests
D. 10million hectares area was under
forests

12 How much area of Pakistan is under forests:
A. 15 percent
B. 4.8 percent
C. 25 percent
D. 50 percent

13 Out of world's total area:
A. 23 percent under forests
B. 50 percent under forests
C. 15 percent under forests
D. 70 percent under forests

14 For economy of an agricultural country:

A. 80 percent area must be under
forests
B. 50% area must be under forests
C. At least 25% area must be under



14 For economy of an agricultural country: C. At least 25% area must be under
forests
D. Forest do not play any role

15 Human intervention and other factors:
A. Affect on the growth of forests
B. Do not affect the growth of forests
C. May affect the growth of forests
D. Limit the growth of forests


